
N = 211

211 circles in a 1x0.70000 rectangle

radius =   0.029882212828
ratio  =  23.425306687505

density  = 0.845589919750
contacts = 410

 E.SPECHT
11-AUG-2010

N = 212

212 circles in a 1x0.70000 rectangle

radius =   0.029806434832
ratio  =  23.484861706865

density  = 0.845293947549
contacts = 477
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N = 213

213 circles in a 1x0.70000 rectangle

radius =   0.029738999681
ratio  =  23.538115185844

density  = 0.845442641663
contacts = 396
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N = 214

214 circles in a 1x0.70000 rectangle

radius =   0.029674844172
ratio  =  23.589003397864

density  = 0.845750961458
contacts = 390
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N = 215

215 circles in a 1x0.70000 rectangle

radius =   0.029665179011
ratio  =  23.596688890314

density  = 0.849149658649
contacts = 238
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N = 216

216 circles in a 1x0.70000 rectangle

radius =   0.029483357056
ratio  =  23.742208143776

density  = 0.842673715594
contacts = 422
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